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QUESTION 1

A client has a FlexPod Datacenter solution with four active fabric links in port channel mode established between the
Cisco Fabric Interconnects and the IOMs on a Cisco 5108 blade chassis. The blade chassis is fully populated with Cisco
UCS B200M5 blades. A worker in the data center inadvertently unplugs the fourth uplink cable from IOM-A while
working in the rack.

In this scenario, what happens to the network traffic?

A. Connectivity for servers 3, 4, 7, and 8 all fail over to IOM-B.

B. There is a loss of connectivity for servers 4 and 8.

C. Traffic is load-balanced within IOM-A.

D. Traffic is load-balanced within IOM-B.

Correct Answer: A

QUESTION 2

Your customer has a FlexPod configuration with a 4-node NetApp AFF A300 storage cluster that uses only NSE drives.
Which two solutions allow the customer to expand the current storage system? (Choose two.)

A. a two-node AFF A200 with a 3.8 TB NSE SSD

B. a DS224C with twenty-four 3.8 TB SSDs

C. a DS4246 with twenty-four 6 TB NL-SAS HDDs

D. a two-node FAS8200 with a 4 TB NL-SAS HDD

Correct Answer: BD

QUESTION 3

A customer is planning to deploy a FlexPod solution for a large scale SAN requirement that uses the FC protocol. The
customer plans to use Smart Zoning in the configurations to reduce the number of TCAM entries in the zoning process.

In this scenario, which design would enable the customer to use Smart Zoning?
A. storage connected to Cisco Nexus 9000 Series switches

B. storage connected to Cisco Nexus 5000 Series switches

C. storage connected to Cisco MDS switches

D. storage directly connected to Cisco UCS Fabric Interconnects

Correct Answer: C
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Reference: https://www.cisco.com/c/en/us/td/docs/unified_computing/ucs/UCS_CVDs/
flexpod_datacenter_vmware_netappaffa_design.html#_Toc23952741

QUESTION 4

A customer wants to deploy a performance-sensitive workload while leveraging NetApp Snapshot technology and
technologies such as NAS and SAN.

Which architecture satisfies these requirements?
A. NetApp StorageGRID

B. NetApp SolidFire

C. NetApp EF-Series

D. NetApp AFF

Correct Answer: B

Reference: https://www.netapp.com/media/10608-tr-4636.pdf

QUESTION 5

Which port type would you configure when you connect a chassis to the Cisco Fabric Interconnects?
A. Ethernet uplink ports

B. FC storage ports

C. server ports

D. appliance ports

Correct Answer: B

Reference: https://www.netapp.com/media/12424-tr4036.pdf (16)
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